(4th kyu-2)

() BFBE  Answer
(1) 3)
1
(2) 20— z=y
(3) 2400cm?
2
(4) 2260.8 cm?
(5) 12
3
(6) 24
(7) 23T
418 7C
(9) Tuesday
5 || 0 @)

Please fill in the box.(the bold part is mandatory)

Put your sticker for Section 2
with the bar code here.
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(4th Kyu-2)

3

130z+150y=2480

13024+150y=2480 @
r+y=18 @

From O—@X 130, we have iSubstituting it into
1302+ 150y=2480 @ gives

(13) | -)1302+130y=2340 | z+7=18
20y=140 | z=11
y=7 '
vanilla chocolate
(Answer) 11 y 7
(14) | (y=) 102+ 20
y (L)
100
(15) 50
(0] 5 10 z (minutes)
(16) 9 (minutes)
(17) ©, @, @
(18) O)
(19) 80.7 (marks)
(20) 84 (kg)




